ok Ao A x 0 G oY

D V31 @ 442 3 33

@ 34



£C = 90° Q1 A ZH4t7t

dolth, AC=4, BC=3 ¢

=
=2 A2
B
\
\
\
\
3
!
/
/
/
AT 7C
S
3 4
@cosAzg @tanA:§
B="
® cos =



o] Wi, AB ¢J

DEEE R S E(ERERCE
reregol AAA Qe

TA
™

o
7_|

3.

stofzt,

=X

2ol

cm



4. Al 5 a,b,co ol 6L W, 5702] HEF 8,a,b,c,4 9] B2

D 2 ® 4 B 6 @ 8 A 10



@ at+y=b+x © b +c?=d?

© @+ =x%+)2 @ 2—c®=y?
© c= Vb2 +a?

D 170 @ 2 7 3 37 @ 4 7N ® 5 7



che 3 el ¢ 0 o Wshe AAn

& ABCD 9] 7}22] Zo]7} 342cm , Al 22 "3v/2enf
Zo]7F 44/3cm & wf, ¥ O 9 YolE 3} !
1
al O !
4/§c;n
\\
B
@D 6v6rcm? @ 12 V61 cm? ® 33v2rcm?
@ ﬁ7Tcr1r12 ® 661 cm?

2



D (1)25, (2)6V3 @ (1)25, (2)7V3 @ (1)26, (2)6V3

@ (127, (2)7V3  ® (1)28, (2)7V3



8.

o2 1ol A sinx + cosy & ZH2?




O
of dolg oM M=z 449 A’BC € TEHY I Hole

-

O3 e AABC oA g o 4 IE 30% =°]i thE 7
1

AAA'D 9 ACC/D ©] W0l 9] 7} AABC © Yol o] é ol9it

9 9 59z Patolet




10. thg 1 2ol WA 0] Fol7t 10em A W
A2k ABCD | g 99| Zol 2 Fatolet

A

D

~10em 0 C

S|

i

SERELES



